Question
Answer

How many instances does it need to describe one model?
3 instances is the minimum: 1 device configuration, 1 device description, 1 or more locale instances.

In most cases there will be 1 command sequence instance, too.

What’s the first thing a driver should look at?
The device configuration: this is a small file telling about all other instances helping to describe the model.

Does every model have its unique instances?
That’s perfectly possible, but not the idea. A device configuration is unique as well as a device description instance. Locale instances are a candidate for being reused for numerous models. Command sequence instances could be reused within a family of models.

Keep in mind that locale and command sequence instances can hold more tags than needed for one specific model.

Can a locale instance show two different model specific entries for the same text string ID?
No! An ID is unique. A locale instance may have redundant tags for the currently active model, but every ID is unique. A way out could be to create two different IDs with different entries in the same locale.

What is an optional unit?
A device is a printer. It’s a stand-alone unit, but may have other units connected – optional units.





































